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alphal3_4eX1X:cyclenum {run == 7700}

9216 9216.2 9216.4 9216.6 9216.8 9217

cyclenum

deltad46_12X4eY:cyclenum {run == 7700}
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alpha46_4eY4aY:cyclenum {run == 7700}
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cyclenum

run:cyclenum {run == 7700}

P PN R RPN BRI I B
9216 9216.2 9216.4 9216.6 9216.8 9217
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 7700}
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cyclenum

segment:cyclenum {run == 7700}
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cyclenum
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usl_1X:cyclenum {run == 7700}
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cyclenum

usl_4eY:cyclenum {run == 7700}
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cyclenum
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usl_4aY:cyclenum {run == 7700}
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cyclenum

usl_12X:cyclenum {run == 7700}
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cyclenum
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usl_4eX:cyclenum {run == 7700}
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cyclenum

run:cyclenum {run == 7700}
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cyclenum
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usr_1X:cyclenum {run == 7700}
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cyclenum

usr_4eY:cyclenum {run == 7700}
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cyclenum
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usr_4aY:cyclenum {run == 7700}
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cyclenum

usr_12X:cyclenum {run == 7700}
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cyclenum
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usr_4eX:cyclenum {run == 7700}
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cyclenum

run:cyclenum {run == 7700}
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cyclenum




usl_coill:cyclenum {run == 7700} usl_coil3:cyclenum {run == 7700} usl_coil4:cyclenum {run == 7700}
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cyclenum cyclenum cyclenum

usl_coil6:cyclenum {run == 7700} usl_coil7:cyclenum {run == 7700} run:cyclenum {run == 7700}
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usr_coill:cyclenum {run == 7700}

usr_coil3:cyclenum {run == 7700}
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cyclenum

usr_coil6:cyclenum {run == 7700}
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usr_coil7:cyclenum {run == 7700}
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usr_coil4:cyclenum {run == 7700}

P [ I

9216 9216.2 9216.4 9216.6 9216.8 O
cyclenum

run:cyclenum {run == 7700}
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cyclenum
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1X_coill:cyclenum {run == 7700}
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cyclenum

4eX_coill:cyclenum {run == 7700}
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cyclenum
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1X_coil3:cyclenum {run == 7700}
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cyclenum

4eX_coil3:cyclenum {run == 7700}
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cyclenum

4eX_coil7

1X_coil7

-5

-6

-7

o

-2

-8

-10

1X_coil7:cyclenum {run == 7700}

S A T DA I
9216 9216.2 9216.4 9216.6 9216.8 9217
cyclenum

4eX_coil7:cyclenum {run == 7700}
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cyclenum
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4aY_coild:cyclenum {run == 7700} 4aY_coil6:cyclenum {run == 7700} 4aY_coil7:cyclenum {run == 7700}
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4eY_coil4d:cyclenum {run == 7700} 4eY_coil6:cyclenum {run == 7700} 4eY_coil7:cyclenum {run == 7700}
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12X_coill:cyclenum {run == 7700}
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cyclenum

12X_coil6:cyclenum {run == 7700}
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12X_coil3:cyclenum {run == 7700}

.

9216 9216.2 9216.4 9216.6 9216.8

9217
cyclenum

12X_coil7:cyclenum {run == 7700}
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12X_coil4:cyclenum {run == 7700}
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run:cyclenum {run == 7700}
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